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Test Case Identifier

Input Specification

Output Specification

PTS_STC_000_& A}

FIEFEEE B txt op e

M= S 2 Al 502 7t=
Y®E £95t= o= 8ls
CIE R0 map a2 2

0| 0|20 X|=X2 &)

PTS_STC_001_& A} Card: Monitor:PASS BRO

InOut=0, Balance >= 1050 Sound:PASS

Terminal: Card: Balance -= 1050

5001 InOut=1, Mot=1,

TerminallnfoFromCard=HHA ™ &

PTS_STC_002_&X} Card: Monitor:PASS BRO

InOut=0, Balance >= 1050 Sound:PASS

Terminal: Card: Balance -= 1050

7001~7005 InOut=1, Mot=0,
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TerminallnfoFromCard=X| &} & ™
=

PTS_STC_003_&X} Card: Monitor:GET OUT RIGHT NOW
InOut=0, Balance < 1050 Sound:DENY
Terminal:
5001

PTS_STC_004_& X} Card: Monitor:GET OUT RIGHT NOW
InOut=0, Balance< 1050 Sound:DENY
Terminal:
7001~7005

PTS_STC_005_3}}

FIEEEL B txt op e

mz S =2
=

o
ZJI\-E ==

PTS_STC_006_3} A}

Card:
Mot=1,InOut=1,TerminallnfoFromCard=
HA™EE

Terminal:

5001

@+X ZH 7IE0 7|=E0[ Aojof e

Moniter:BYE BRO
Sound:OFF

Card: Balance -= 0
InOut=0, Mot=1,

TerminallnfoFromCard=HHA ™ &

PTS_STC_007_8}}

1.Card:
Mot=0,InOut=1,TerminallnfoFromCard=
XoHEZE

Terminal:

SAS XSHE Bizet 1 X0 L= &4

o
e

2.Card:
Mot=0,InOut=1,TerminallnfoFromCard=
XStEER

Terminal:

SAteh X[5HH Bzt 2 0y XpO| Lt
L3

@+H ZX 7|=0| 7|50| Uojor

1.Moniter:BYE BRO

Sound:OFF

Card: Balance-=0,
InOut=0,Mot=0,
TerminalinfoFromCard=X|35} &Y
=2

2.Moniter:BYE BRO

Sound:OFF

Card: Balance-=200,
InOut=0,Mot=0,
TerminalinfoFromCard=X|35} &S
L]

PTS_STC_008_%t&

1. Card:
Mot=1,InOut=0,TerminalinfoFromCard=
KA HE, Balance >= 600

Terminal:

7001~7005

1.Moniter:TRANS BRO
Sound:TRANS

Card: Balance-=0,
InOut=1,Mot=0,

TerminalinfoFromCard=H A& &

Team 7
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2. Card:
Mot=1InOut=0,TerminallnfoFromCard= | 2.Moniter: GET OUT RIGHT
HA™H, Balance < 600 NOW
Terminal: Sound: DENY
7001~7005
@15z o|Ly
PTS_STC_009_zt=& 1. Card: 1.Moniter:BYE BRO
Mot=0,InOut=1,TerminallnfoFromCard= | Sound:OFF
HA™H Card: Balance-=300,
Terminal: InOut=0,Mot=0,
=KXtk X8 B3 QF 1X0| L= AL | TerminalinfoFromCard=X|s}& ™
2. Card: H
Mot=0,InOut=1,TerminallnfoFromCard= | 2.Moniter:BYE BRO
HA™HE Sound:OFF
Terminal: Card: Balance-=600,
SAeH Kot Bt 2 0]y AHO| Lt | InOut=0,Mot=0,
= 42 TerminalinfoFromCard=X| s} & ™
=2
PTS_STC_010_zt= Card: Moniter:PASS BRO
Mot=1,InOut=0,TerminallnfoFromCard= | Sound:PASS
HANEE Card: Balance-=1050,
Terminal: InOut=1,Mot=0,
7001~7005 TerminalinfoFromCard=X| 5} &2 &
@15% 0|= L]
PTS_STC 011_3t& 1. Card: 1. Moniter:TRANS BRO

Mot=0,InOut=0,TerminallnfoFromCard=
X|5t&H &, Balance>=700

Sound:TRANS
Card: Balance-=0,

Terminal: InOut=1,Mot=1,
5001 TerminalinfoFromCard=X| s} & ™
2. Card: H
Mot=0,InOut=0,TerminallnfoFromCard= | 2.Moniter: GET OUT RIGHT
XSt H &, Balance<700 NOW
Terminal: Sound: DENY
5001
@152 O|L

PTS_STC 012 %t Card: Moniter:BYE BRO
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Mot=1,InOut=1,TerminallnfoFromCard=

XHEEE

Sound:OFF
Card: Balance-=(30ZX & 1002),

Terminal: InOut=0,Mot=1,
5001 TerminalinfoFromCard=H A& &
PTS_STC 013 &zt Card: Moniter:PASS BRO

Mot=0,InOut=0,TerminallnfoFromCard=

XHEEE

Sound:PASS
Card: Balance-=1050,

Terminal: InOut=1,Mot=1,
5001 TerminalinfoFromCard=HHA M &
@15= 0|=

PTS_STC_014_0O| ™At 1. Card: 1.Moniter:PASS BRO

Mot=0,InOut=1,TerminallnfoFromCard=
HA™H, Balance>=1650

Terminal:

5001

2. Card:
Mot=0,InOut=1,TerminallnfoFromCard=
HA™H, Balance>=1650

Sound:PASS

Card: Balance-=1650,
InOut=1,Mot=1,
TerminalinfoFromCard=H A& &
2.Moniter:PASS BRO
Sound:PASS

Card: Balance-=1650,

Terminal: InOut=1,Mot=0,
7001~7005 TerminalinfoFromCard=X| 5} 2™
H
PTS_STC_015_0O| g At 1. Card: 1.Moniter:GET OUT RIGHT NOW

Mot=0,InOut=1,TerminallnfoFromCard=
HA®H, Balance<1650

Terminal:

5001

2. Card:
Mot=0,InOut=1,TerminallnfoFromCard=
HA™H, Balance<1650

Terminal:

7001~7005

Sound:DENY

2.Moniter:GET OUT RIGHT NOW
Sound:DENY

PTS_STC_016_0| & At

1. Card:
Mot=0,InOut=1,TerminallnfoFromCard=
X|SIEH &, Balance>=1250

Terminal:

5001

2. Card:

1.Moniter:PASS BRO
Sound:PASS

Card: Balance-=1250,
InOut=1,Mot=1,
TerminalinfoFromCard=HA ™ &

2.Moniter:PASS BRO
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Mot=0,InOut=1,TerminallnfoFromCard=
X|stE ™ &, Balanc>=1650

Sound:PASS
Card: Balance-=1250,

Terminal: InOut=1,Mot=0,
7001~7005 TerminalinfoFromCard=X| s} & ™
2
PTS_STC_017_0|7d 4t 1. Card: 1.Moniter:GET OUT RIGHT NOW

Mot=0,InOut=1,TerminallnfoFromCard=
X|sIEH &, Balance<1250

Terminal:

5001

2. Card:
Mot=0,InOut=1,TerminallnfoFromCard=
X|5t&H &, Balance<1650

Terminal:

7001~7005

Sound:DENY

2.Moniter:GET OUT RIGHT NOW
Sound:DENY

PTS_STC_018_O| & At

1. Card:
Mot=1,InOut=1,TerminallnfoFromCard=
X|StE ™ &, Balance>=1750

Terminal:

5001

2. Card:
Mot=1,InOut=1,TerminallnfoFromCard=

X|sIEHE, Balance>=1750

1.Moniter:PASS BRO
Sound:PASS

Card: Balance-=1750,
InOut=1,Mot=1,
TerminalinfoFromCard=tHAH &
2.Moniter:PASS BRO
Sound:PASS

Card: Balance-=1750,

Terminal: InOut=1,Mot=0,
7001~7005 TerminalinfoFromCard=X| 5} 2 &
H
PTS_STC_019_0O| ™At 1. Card: 1.Moniter:GET OUT RIGHT NOW

Mot=1,InOut=1,TerminallnfoFromCard=
X|5t&H &, Balance<1750

Terminal:

5001

2. Card:
Mot=1,InOut=1,TerminallnfoFromCard=
X|SIE™H E, Balance<1750

Sound:DENY

2.Moniter:GET OUT RIGHT NOW
Sound:DENY

Terminal:
7001~7005

PTS_STC_020_7|E} FIE™ME I BRI txt ObY NSk
Terminal:

Team 7
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5001
PTS_STC_021_7|E} FIE™E T} ERZI txt b INNES ]
Terminal:
5001
PTS_STC_022_7|E} FZIE™ETF B0 txt o INENES ]
Terminal:
7001~7005
PTS_STC_023_7|E} FZIE™ETF B0 txt o INENES ]
Terminal:
7001~7005
PTS_STC_024_7|E} Enable.txt | 2t 1 Wait2 &=
PTS_STC_025_7|E} SHAEHO S HA| Rob HEiet ¢ o7 gar Zar &
PTS_STC_026_7|E} Enable.txt | Zf 1 x7|3F A A|E
PTS_STC_027_A{t{ Enable.txt | 2t 1 INENESgn]
PTS_STC_028_A{H{ =5 Z2H 7= AR E
1 HA 0|8 7|20 Y= AL
paymentData_5001
2. Iskd o8 7|=0t U FL
paymentData_7001~7005
3. B2 K|S 08 7|=0| Zo| Y
£ 3¢
paymentData_5001,7001~7005
PTS_STC_029_MH{ 1. trans_history.txt N ESan]
2. paymentData_5001,7001~7005,
trans_history.txt
PTS_STC_030_A{H 1. trans_history.txt INFNFSan |
2. paymentData_5001,7001~7005,
trans_history.txt
PTS_STC_031_A{H{ paymentData_5001,7001~7005 INENES g
PTS_STC_032_AMH paymentData_5001,7001~7005 INENFSan |

PTS_STC_033_A{H{

paymentData_5001,7001~7005

Enable.txt 2| gt O,
Total_Bus.Data.txtAl 4

Total_Metro_Data.txt24 A

Team 7
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Test Case Identifier

Input Specification

Output Specification

PTS_STC_000 1&1~5 = o}L} or 2 -
FEE : 1050, CARD_BALANCE : X}
PTS_STC_001 2
ZE 2o
FEE : 1050, CARD_BALANCE : X}
PTS_STC_002 1
ZE 2o
Card_Data.txt L FHEE < 105001 At
PTS_STC_003 . 2 NOT ENOUGH MONEY
Card_Data.txt L FHEE < 105091 At
PTS_STC_004 B 1 NOT ENOUGH MONEY
PTS_STC_005 K MEJOM 1&1~5 = St} or 2 -
FEE : 1050, CARD_BALANCE : %t
PTS_STC_006 2->2
of
1&1~5 & 8} -> 1&KS AME4SH o | FEE : 0, CARD_BALANCE : XoH
PTS_STC_007
A 1EAE AHZlof A= G
1&1~5 £ olLt -> 1&K S MEHSE A | FEE : 200, CARD_BALANCE : X}
PTS_STC_008
OlM 28AHZE ol&h AHe|of A= HE ThoH
1&(~5 & SfLt -> 1& XS MEisH AS
PTS_STC_009 (+ & ot N 1 "= | NOT ENOUGH MONEY
M elet LIMX| &5 StLt
Card_Data.txt L ZteH >= 165091 AFEl, | FEE : O, CARD_BALANCE : %t
PTS_STC_010
2->2->1&l1 oH
Card_Data.txt L 7t < 165091 AFE],
PTS_STC 011 NOT ENOUGH MONEY
2->2->1&1
2->2->(15% O|L}) 1&1~5 = &}L} - | FEE : 300, CARD_BALANCE : %}
PTS_STC_012 > 1&XNZ MES FoiM 1ZAY A | HdE T
20 Qs o
2->2-> (15X O|L}) 1&1~5 = &}L} - | FEE : 600, CARD BALANCE : X}
PTS_STC_013 > 1&XNZ MEiS FojM 2F-AY O | HE T
A Aalof e
N FEE : 1050, CARD_BALANCE : X}
PTS_STC_014 2->2-> (15X 0|5) 1&1~5 = 3tL}
ZE Ty
Card_Data.txt L Xt >= 175091 AlEf,
FEE : 0O, CARD_BALANCE : %t
PTS_STC 015 1&1~5 = &L} -> 1&1~5 = &L} ->
, o
Card_Data.txt L{ Xt < 1750091 AlE],
PTS_STC_016 N N NOT ENOUGH MONEY
1&1~5 & &L} -> 1&1~5 & 8L} ->
Team 7 9
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2
FEE
1&1~5 = L} -> 1&1~5 = 8L} ->
PTS_STC_017 100|200|300]400|500[600|700
(15% O|Lf) 2 -> 2
CARD_BALANCE : X}ZtEl Xhol
1&1~5 = &L} -> 1&1~5 = &fL} -> | FEE : 1050, CARD_BALANCE : %
PTS_STC_018 & ot & ot - r
(15% 0|Z )2 ZbE| EroH
2 ->2-> (15X O|L}) 1&1~5 = &fL} - | FEE : 1650, CARD_BALANCE : X}
PTS_STC_019
>2 ZHEl oy
o = FEE : 1650, CARD_BALANCE : %}
PTS_STC_020 sto| 3t 2 gle
Z+Z| K}OH
O = - "1
e FEE : 1750, CARD_BALANCE : %}
PTS_STC_021 sto| 3t 2 gle
ZEl Ty
1&1~5 = &}L} -> 1&1~5 = 8}L} -> | FEE : 1750, CARD _BALANCE : X
PTS_STC_022 & ottt & ot - r
(15% O|Lf) 2 -> 2 ZHE| RpoH
FEE : 1250, CARD_BALANCE : %}
PTS_STC_023 1&1~5 = B}L} -> 2
2E Ty
ol = FEE : 1250, CARD_BALANCE : %}
PTS_STC_024 sto| 3t 2 gle
2E Ty
PTS STC 025
PTS STC 026
<CLOCK: HHBHHHH AR >
PTS_STC_027 1&1~5 = L} or 2 (FFE Ef A))
FEE : ####
N Ef 2|7 S 2 CHB/M), 2 SHA}
PTS_STC_028 1&1~5 = 8tL} or 2 (FFE EfL A))
(1/0),2HoH e F7|ID count
. Ef A2 - & ==EHB/M), S SHAL
PTS_STC_029 1&1~5 = 8tL} or 2 (FFE B A))
(1/0), %t CHEd 7|ID count
. Ef L A| ZH S 4 THB/M), S 514
PTS_STC_030 1&l~5 & oftfor 2 (&S B2 M| |0 qov sy ma o)
- Qe FtE B Al) Gl =S ==
ID_count
E|A|ZH D E2ACHB/M), 28K
2->2->1&1~5 & &tL} or 1&1~5 = 12 T okxt
PTS_STC_031 (1/0), A FtE 7|ZEH Us
StLp -> 1&1~5 = SfL} -> 2
Et Ct3+7|ID_count
PTS_STC_032 Clocko| 38 Z} A AR
1&1~5 & otL} or 2 O|= BtF7F H0f | FEE 1650[1750,
PTS STC 033 & otut |2 S27 "o |
JtD 1&1~5 = 8}Lt or 2 CARD_BALANCE : x}Zt=l Rtol
PTS_STC_034 - OK.txt A4
PTS_STC_035 sto| 3t 2 gle
PTS_STC_036 sto| 3t 2 gle

Team 7
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PTS_STC_037 ol o = g2
PTS.STC.038 | &0l & = gig
PTS_STC_039 ol o & g2
PTS_STC_040 siol of ~ oo
PTS_STC_041 siol of ~ oo
PTS_STC_042 siol of ~ oo
PTS.STC.043 | &0l & = gig
PTS_STC_044 sfol o = gle
Clock2 Cts EME AblE,
PTS_STC.045 OK.ixt S0 2t=  Terminal_Data7}
MZ0| 4

2.2 Test items

21

A

2.3 Input specifications

21

A

24 Output specifications

21 #=x

Environmental needs

32bit Cygwin

System test summary report

4.1 Test summary report identifier

< Team 7 >

Team 7
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Test Case Identifier Result
PTS_STC_000_& At PASSED
PTS_STC_001_& %t PASSED
PTS_STC_002_& Xt PASSED
PTS_STC_003_& Xt PASSED
PTS_STC_004_& Xt PASSED
PTS_STC_005_gs}At PASSED
PTS_STC_006_s}At PASSED
PTS_STC_007_s}At PASSED
PTS_STC_008_zt& PASSED
PTS_STC_009_%t& PASSED(=H &t &)
PTS_STC_010_zt& PASSED
PTS_STC_011_zt& PASSED
PTS_STC_012_=t& PASSED
PTS_STC_013_=t& PASSED
PTS_STC_014_0O| ™At PASSED
PTS_STC_015_0O|7g At PASSED
PTS_STC_016_0O|7g At PASSED
PTS_STC_017_0O|7H At PASSED
PTS_STC_018_0O|7g At PASSED
PTS_STC_019_0O|7g At PASSED
PTS_STC_020_7|Ef PASSED
PTS_STC_021_7|Ef PASSED
PTS_STC_022_7|E} PASSED
PTS_STC_023_7|E} PASSED
PTS_STC_024_7|E} PASSED
PTS_STC_025_7|E} PASSED
PTS_STC_026_7|Ef PASSED(£=M2t2)
PTS_STC_027_MH PASSED
PTS_STC_028_AH PASSED(=M2tR)
PTS_STC_029_A{H PASSED
PTS_STC_030_A{H PASSED
PTS_STC_031_A{H PASSED
PTS_STC_032_MH PASSED
PTS_STC_033_AMH PASSED

Team 7
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< Team 1 >

Test Case Identifier Result

PTS_STC_000

PTS_STC_001

PTS_STC_002

PTS_STC_003

PTS_STC_004

PTS_STC_005

PTS_STC_006

PTS_STC_007

PTS_STC_008

PTS_STC_009

PTS_STC_010

PTS_STC_011

PTS_STC_012

PTS_STC_013

PTS_STC_014

PTS_STC_015

PTS_STC_016

PTS_STC_017

PTS_STC_018

PTS_STC_019

PTS_STC_020

PTS_STC_021

PTS_STC_022

PTS_STC_023

PTS_STC_024

N|lZ2|9|9v|Z2|Z2|9|v9|©9|Z2|9|9|U|O|Z2|9|U|U|OU|U|U|U|O|UO|O|TO

PTS STC 025

%2
X

2t A 2l

n|h
£ (g9
rir | rir

ox
4o (o

PTS STC 026

%2
X

2t A 2l

PTS_STC_027

PTS_STC_028

PTS_STC_029

PTS_STC_030

PTS_STC_031

PTS_STC_032

PTS_STC_033

U | |O|Z2|2|2|0 |

PTS_STC_034

Team 7 13
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PTS_STC_035

PTS_STC_036

PTS_STC_037

PTS_STC_038

PTS_STC_039

PTS_STC_040

PTS_STC_041

PTS_STC_042

PTS_STC_043

PTS_STC_044

v|Z2|Z2|Z2|Z2|1Z2|Z2|Z2|Z2|Z2|Z2

PTS_STC_045

Evaluation

<Team 7>

Total: 32

Passed: 30

Failed: 2

<Team 1>

Total: 46

Passed: 26

Failed: 18 (=22l & + 8l= BRIl 28, SRSO| Gl #H0l2= H <)

rir

Test Case2 HIEtC 2 LIHX| 2749 @=2x M3 o™

Team 7 14
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Team 79| ARl 71 st 4

| Total_Bus_Data.txt - 0| 2.5

HEE MAQO) EZIWV)

0.1.0

'_| Total_Metro_Data.tct - 0| 2 &}

R EHEE MAQ) BV ES2

1205014045, (0, 5500

| trans_history.txt - | 2E

o) EHEE) MAO) E27|(V) ESEH)
[0,0,0,0,080,0,0,0,080,0,0,0,080,0,0,0 080,0,0,0,080,0,0,0,08EMD

PTS_STC_027~032

terminalInf
terminalInf
otal_B

m
terminalInfc
terminalInfc

mentation fault (core dumped)

nion

Team 7
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PTS_STC_027~032

[paymenpaa sootud - of 22 L=

534,11, 1750.500100C

1,1050,50010 40.1.1,1050.50010001B1203004: 0D4547,1,0.0,500

50043

0.0.0.0

paymentDota_UBt - 022

0.0,5001 0007}

1.1050

aymentData

15010501,0.1.0.5001001 18

0,0.0,081205004212.0,1,105¢ 1050, 7001000181205004532,0, 1,12

t paymentData_UM.txt - O

1205004212,0,7, 1050, 7001000

4340,0,1,1050, 7001000 81205004592, 0, 11250, 7001000281208004557, 0,0, 0, 7002000081 20500554

AEH™_PTS_STC_024,025,026

i P S OSSN . < 0iki2l

| paymentData_5001.txt - G 2 7.“.

@ #BEE MAO EIV) E8ZH)

$ cd union [
ion

/P T7.exe

lease,Input rdNumber And TerminalNumber For Executior

Number: cardl.txt

TerminalNumber: 500

Server is Calculating Please, Wait Just Seconds

~/union

xe
nput CardNumber And TerminalNumber For Execution
d2. txt

j Please, Wait Just Secon

AlEs PTS_STC_024,025,026

Team 7 16
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TP EHEE MAO) E7IV E%*(H)
0,0,0,0,081205004215,1,1,1050,5001000081205004340,1,1,1050,50010001@1205004534,1,1,1750,5001000281205004547,1,0,0,5001000381 ~

‘ E paymentData_7001.txt - 0| @& ‘ = = XS
oE HEE) MAQ) 27V) ESY(H)
0,0,0,0,081206004212,0, 71,1060, 7001000081205004340, 0,1, 1050, 70010001 @1206004532 0,1, 1250, 70010002@12050106801,0,1,0,5001001181 -

] terminallnfo_5001.txt - Of| 2 &} | = |[E] S
o HEE) MAO) 27|(V) ESEH)

50010026 -
E paymentData_7001.txt - O 2% ‘ = = xS

oelR) HEE) MAO) 27|(V) ESBH)
0.0,0,0,081205004212,0, 71,1050, 7001000081205004340,0,1,1050,7001000181205004532,0,1,1250, 7T00100021205010501,0,1,0,5001001 181 ~

EpaymentData_UB.t)ct—DﬂE/'g |':' = &
oU(F EEE MAO) BE7|V) EZTH)
1205004215,1,1,1050,5001000081205004340,1,1,1050,5001000181205004534, 1,1, 1750, 5001000281205004547,1,0,0, 5001000381205005300, ~

oeR BEEE MAO) 27V EI3UH)
[1205004212,0,1,1050, 7001000081205004340,0,1, 1050, 7001000181205004532,0, 1, 1250, 7001000281205004557,0,0,0, 700200008 1205005548, ~

PTS_STC_020,021,022,023
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Ver. Team7-2014.PTS.STP-1.0

I (R B R)
1. PTS_STC_009_%t&

=

if(abs(tempNuml-temphNum2)>=1)]

{
temp.balance -= 30@;
¥
else if(abs(tempMuml-tempNum2)>=2)
{
temp.balance -= 60@;
¥

o

1211181801, 0,0,3000,50010000

r

terminalInf
terminalInf
vt

termina
termir

termina
termina

miel(F) ®ENE) MANO) EIIW)

1211181801.0,0,5000,50010000

terminalInf

termina
Te Input CardNumber And TerminalNumber

Team 7 18



Ver. Team7-2014.PTS.STP-1.0

HEE MAO) 27
ITOR 0. ‘ :
AIN: 3 1211185554, 0,1,3550,50010005

TIEH =6 A0 B[ Ca2H

1211185558,0.1,3950,50010004

- Execution

termina

lease,Input C = Execution?
CardNumber: car t
TerminalNumber

MONTTI
REMAT

PTS_T7_FINAL

I 5 ——

AR TR BIE MAO) 27V ESRH)

[1211185628, 0,0,3350, 70050000

S_T7_FINAL
terminal.exe
ase,Input CardNumber And TerminalNumber For Execution
cardl. txt

MONITOR
REMATN

Execution

M ®

121118565

@ M) =27(V) E2oH)

,0,0,3850, 70020000

- Executi

TerminalNumber
Segmentation fault

ONITC
REMAT

<gS->eS->SHRHA5HE) W EAHZO WE Xy =40 tHE>
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Ver. Team7-2014.PTS.STP-1.0

2. PTS_STC_026_7|E}

jcunit-2.1-2 PTS_T7_FINAL

$ cd PTS_T7_FINAL

~/PTS_T

_FINAL
$1s

cardl.txt paymentData
card2.txt paymentData_
card3.txt pa ntData_. terminalInfo 0
card4. txt pa ntData_ terminal.exe.stackdump Total_Bus_Data.txt
card5. txt p ntData_ .txt terminalInfo_5 > Total_Metro_Data.txt
card6. txt pa ntData_. terminalIn B trans_history. txt
enable.txt pa ntData_l terminalInfo. X

= =] %}

5001000281211185533,1,1,1050,5001000381211185539, ~

= B8 X
DHE) BEE) AMAO) EIIV) H)
50010006 2
| enable.txt - B 27 = |[=] X |
oH(R EEE) MAO) EI|(V) E2%(H)
1 2
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Ver. Team7-2014.PTS.STP-1.0

CUnit-2.1-2 PTS_T7_|

$ cd PTS_T7

_FINAL

1s
cardl.
card2.txt pa
card3
card4.
card5. txt
card6. txt
enable. txt

paymentData_UM. txt terw1nd11nfo
(i terminalInf
inal.exe terminalInf
inal.exe Total_Bus_Data.
inalInfo_5001
inalInfo

terminalInf

paymentData.
/mentData
entData
txt
entData
paymentData
entData

_FINAL

“Please,Input CardNumber And TerminalNumber For Execu
cardNumber: 1k

nalNumber

1
“Server is Calculating Please, Wait Just Seconds

i

rhl

=

TR EE(E) MAIO) E7
50010000
X5t

erminal

-bash: ,/terminal: No such file or directory

_T7_FINAL

terminalInfo_
terminalInfo
terminalInfo_
Total_Bus_Data.
Total_Metro_Data. txt
trans_history. txt

ardl. SEXE
card2. txt
card3. txt
[{card4. txt
cardS. txt
card6. txt
enable. txt

paymentData_ 1. Ext paywentDﬁta UM
aymentData 2 ver.exe

2 Terminal . exe
terminal . exe.
tevm1na1lnfo
terminalInfo
terminalInfo_

paymentData,
paymentData
paymentData_
paymentData_UB.

_T/7_FINAL
$1s
cardl. terminalInfo_
terminalInfo_
terminalInfo_
Total_Bus_Data.
Total_Metro_Data. txt
trans_history. txt

paymentData, g y/mentData_U
.txt  paymentData < ('
.txt /mentData. |erm1nal exe
card4. txt entData terminal.exe
card5. txt entData terminalInfo_
SEXE paymentData terminalInfo
enable. txt paymentData_U terminalInfo

X OB W

favigy

= =] <

211185558,0,1,0,5001000

211185628,0,0,600 -

== xX¥
‘70010003 4
{ | enable.txt - B 2% = |8 PXS
I QiR H®RE) MAl©O =8

|1

Team 7
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entData

entData
mentDat
mentData_

FINAL

entData_5
entData
entData,
mentData
mentData
entDa

~/PT _FINAL

./terminal
Tease,Input (
Xt

dNumber And TerminalNum

terminal.exe.st
terminalInf
terminalInf
terminalInf

S er.ex
Terminal.exe
terminal.exe
terminalInfo_5
t nalInfo
terminalInfo_

001
Calculating Please, Wait Just

ackdump
01.txt

Ver. Team7-2014.PTS.STP-1.0

Total_Bus_Data. tx

Total

terminalInfo
terminalInfo_
terminalInfo_
Total_Bus_Data
Total_Metr
trans_hi

For Execution

HANO) HII(V) &

=B8] X

MA©O) E7|V)

Team 7
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Ver. Team7-2014.PTS.STP-1.0

Team 1 9| AL PTS_STC_011, PTS_STC_016, PTS_STC_031 ARl &7+ Q50 AZ

-

ot
4r

|_.
C
1.
1
Ch
1

JALANCE : 500

PTS_STC 011
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Ver. Team7-2014.PTS.STP-1.0

:E LOCK: 200412130512 ==

TYPE: <<Calculate_Bus_0Off_5Standards==
FEE : 0
CARD BALANCE : 500

: 500

PTS_STC_Ole6
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Ver. Team7-2014.PTS.STP-1.0

Card_Data txt - 2 &

otEF HEE MAO) 20V

201412020712,M,1,998950,1_1

201412020736,m,0,998750,4_1

201412020800,8,1,998750,0_
E_ (0 _QQg7cH

201412020840,M,1,998750,
201412020856,M,0,998150,4_
20141202085%6,B6,1,998150,0_
201412020904 ,8,0,998150,

1.Metr

OCkK: 201412

PTS_STC 031
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